P35D series

o

Toho Technology

PEOPLE - TECHNOLOGY - VISION.

M Features
@ Screwclamp terminal block interface breaks out
connector into terminals.

@® Number of terminals:15, 20, 25, 30, 34, 37, 40, 50.

@ Vertical and back side connectors are also available.
*Back side connector is not available for DIN rail mount.

@ UL, CSA listed.

mHow to order

PS5D -40 V 3
“SeriesNo. (D) 2 B

(O Terminal Quantity : 15, 20, 25, 30, 34, 37, 40, 50

(@ Connector Direction : V---Vertical: Connector faces top
H---Horizontal: Connector faces front
B:--Back: Connector faces back

(3 Connector List P PIN*

*Please select number from the connector list on page 14.

B Recommended Wire Peeling Length

—

8.5mm

*

M Specifications

Terminal No.

15, 20, 25, 30, 34, 37, 40, 50, 64

Terminal Pitch

5.08mm

Recommended wire

1.25mm? (Max :2mm?2)

Tightening Torque

0.3~0.45N'm  *When Wiring

Voltage Rating

125V

Maximum Current

1A

Withstand Voltage

AC500V-1min. *Terminals

(50/60Hz) AC2000V - 1min. *with ground
Insulation More than 1000MQ
Resistance *Between reception and ground

terminal DC500V M

Vibration Resistant

10~55Hz/Double amplitude :1.5mm

Shock Resistant

491m/s2  More than (50G)

/Ambient Temperature

-20~+55C *Operating

Ambient Temperature

-25~+85C *Storage

Relative Humidity

45~85% R.H.

Mount Procedure

DIN Rail or direct mount

*Please see 156-159 for UL,CSA compliance in detail.

B Connector direction

@ V- Vertical

® B- Back

: Connector faces top
(@ H - Horizontal: Connector faces front

: Connector faces back



Automation
タイプライタ
How to order


Screw Clamp 5.08mm

Pitch

BIMIL Standard Connector Type

PS5D-20V/H/B

(Back facing connector cutting diagram)

@ B .

74(2.91")
LISTED
E 54(2.12")
% (Mounting Screw : M4)
3 4.3
2 /
£ o
3 b [t}
5 S
g s N (* =
@ ~
= I I =" . = b5
I I o g
2 8 — |- @ ~
3 —m —
- geoeomeded |
& =
Mounting hole diagram
Hio 11 12 15 14 15 16 17 18 19 H
I o — $95
T ) 6 e BN Sl
N A O A N
Ho 1 23 a5 6 7 8 oH = ]
= ‘ ) 0 o
[ 0
<
0
y ¢ i
i ' $4.3
2 U
e e
Connector (Inside row) Pin  Connector (Outside row) Pin
12345678910123456789H10
Connector
Terminals I[[[[[[I [[[[I[[
012345678 910111213141516171819

Outside terminal number

*Front and back row connector pin assignment are re

Inside terminal number

versed in case of using back side type

PS5D-30V/H/B

(Back facing connector cutting diagram)

c@us P

LISTED

355

(Back facing connector cutting diagram)
13(0.51"

963.77) /.
| ,
‘ ‘ (Mounting Screw : M4)
[ ‘ o
&) | @ =
" ~ 5 i\ £
[ddedaaddtdag A E
[gqoecgdacdaoaa |
Mounting hole diagram
{15 16 17 18 19 20 21 %2 23 24 25 26 27 28 29
L LF e — $9.5
| ) o e e . o ~
S A N I A A A 6 A >
Ho 123 456 78 010111213144 = 0
I e e e e e e e e e L =3 o
| ) [ 1 ) ) o o o e e 0
) N N N N A =
:

T

W

S
\
h
i

7
77

o

AIH,

N

Connector (Outside row) Pin

2 v
<

Connector (Inside row) Pin
Connector 1 101112131415 1 2

2
Terminals l [
0

1

I

101112131415

Il

10 111213 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 23

Outside terminal number

Inside terminal number

*Connector pin assignments can be reversed if using the back facing terminal connector.

PS5D




D

PSSDSBI‘iBS

BMIL Standard Connector Type

WPS5D-34V/H/B

@

121 (4.76")
112
LISTED
i (Back facing connector cutting diagram)
_% (Mounting Screw : M4)
S
o 4.3
3
S \ ©
3 2
2 Fary ‘ C{ =
8 8 K
P old aaddaaaagossmmc 3|
8 8 = = <
3 Queegendaunaodandecd
]
3 - L
o = =
I
Mounting hole diagram
|H 17 181920212223 242422728 2930313233 __H a5
(1 e | | [ | . 9’¢—‘e
N N S S A A 6 D A > 7
H 01234567 8]910111213141516 H 05 e
e s e i i i e e e s B B =3 o
) e e e e e o e e o o 0
N N N N N A A 0]
ﬁEFI ﬁEFI =
3 .. 1 $4.3
\( v s
i
Connector (Inside row) Pin Connector (Outside row) Pin
12345678 91011121314151617 1 2 3 456 7 8 91011121314 151617
B II[IIIIIII III[II
Terminals
012345678 91011121314151617 18 1920 21 22 23 24 25 26 27 28 29 30 31 32 33
Outside terminal number Inside terminal number
*Connector pin assignments can be reversed if using the back facing terminal connector.
‘ ®
121 (4.76")
LISTED 5
g (Back facing connector cutting diagram)
= o
£ s ; (Mounting Screw : M4)
=3
= 4.3
£ ¢
3
5o =
3 2
2 W) { —
5 e ~
3 9 N
2 o © 5
§ g — | — | e ~
x
]
: - @@@@@@@@@@W@@W@@@@ 5
@ =
Mounting hole diagram
20,21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39H
|| F2 | 20,91,92,39 4, 95,0 97,8889 | 495
)0 o o -
1 N I I | >
=) 01112131415 16 17 18 194 = &
T T L b= &
1 ) 0
- 0
0
f $4.3
Connector (Inside row) Pin Connector (Outside row) Pin
123456780910111213141516171819201 2 3 4 5 6 7 8 9 1011121314151617 181920
T 1:[[1:[[]:[[1; 1:[[1;[[
012345678 91011121314151617 18192021 22 23 24 2526 27 28 29 30 31 32 33 34 35 36 37 38 39

Outside terminal number Inside terminal number

*Connector pin assignments can be reversed if using the back facing terminal connector.




Screw Clamp 5.08mm Pitch

BIMIL Standard Connector Type

PS5D-50V/H/B "N
®
C 147 (5.78")
LISTED 138
E (Back facing connector cutting diagram)
'g: o 96 s (Mounting Screw : M4)
© ,',\IL_ Llu\‘
2 il JoS $4.3
H S —— L R ¥ —
50 ‘ 0
5 @
g N ’( =
§ nfi* ————— o N
g i i J I =
£ 0 L) & o
& e N | <
X
: g @@@ﬂ%@@@@@@ﬁ@@@@@@@@@@@@@@ )
a == rt—
Mounting hole diagram
[ | Ee5zs2r2820 503152 3534 35 36 $7 38 30 4041 42 43 44 45 46 47 48 45H]
L e $9.5
1 o~
I O O O O O O O A [
HO 12345678 010111413141516 171819 20 21 22 23 24| = 2
S e e O A s s B | = N
(U T T T T T T TR TR TR THO T 1) £ S
I A I O A <
F==r ¢
[ O H $4.3
') Wil
3 o
Connector (Inside row) Pin Connector (Outside row) Pin
Connector 123456789101112131415161718192021222324251 2 3 4 5 6 7 8 9 10111213141516171819202122232425
Terminals 012345678 91011121314151617 18192021 222324252627 282930 31323334 3536 3738 39 40 41 42 43 44 45 46 47 4849
Outside terminal number Inside terminal number
*Front and back row connector pin assignment are reversed in case of using back side type
®
LISTED 182(7.16")
173
E (Back facing connector cutting diagram)
s
g i 120 - (Mounting Screw : Md4)
5 At .,r\.
S ’;91\ U) $4.3
e
3
5o == ‘ 2
& i £
8 s IR OS] o 2 <
0 >
| \@1@1@1m#@1@1@4@1@4@4@4@4@4@4@4@1@4@4@4@4@4@4@4@4@4@4@4@4@4@4@4@ NS
3 [foceronoercrcrepdogrongogoetgo
x|y [|ooccoococcoooooocnoooooooooooaad | j----------
8 = =
= T
— Mounting hole diagram
53233343536373839404142434445464 48495051 525354 5556 575650 606162631 23
o R e e o ]
(] TR T \I\I {0 T T R — ¢
I O O 0 | @
3456 7‘8‘9101112‘131415 6171819 2021222324252627 28293031 = o
(] HI \I\I \I\I \II \II \I\I \I\I T TN T T w v
S S S 1 O S O A | 2
ﬁEFI i—_UEFI &
! . N $4.3
) "U}' ‘1{‘3'/
3 #
Connector (Inside row) Pin Connector (Outside row) Pin
Connector 12345678 91011121314151617181920212223242526272829303132 1 2 3 4 5 6 7 8 9 1011121314 151617181920 21 222324 252627 28 2930 31 32
Terminals 012345678 91011121314151617 181920212223 242526 27 28 29:30 31 32 33,34 35 36 37 38 39 40 41 42.43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63

Outside terminal number Inside terminal number

*Front and back row connector pin assignment are reversed in case of using back side type




PSSDSBI‘iBS

M D-Sub Connector Type

PS5D-15V3A(JAE Connector P/N : DA-15P-T-N)
PS5D-15V4A (Hirose Connector P/N : SDAB-15P)

@

74(2.91")
65

ik s } SEaE
o\ PEDe g —

| [Fioeidega] | —
_||[dcjoaepadad |
e

(Mounting Screw : M4)

15

D]

Tr

95
45(1.77")

Mounting hole diagram

B s
| Ay

w
Ei %z
]

45.5 (1.79")

|
|
|
|
|
_15 1
’: ]2
©
e

4.15

Connector (Inside row) Pin  Connector (Outside row) Pin

— I

2 3 45 6 7 8 9 1011 1213 14 15

Outside terminal number  Inside terminal number

*Front and back row connector pin assignment are reversed in case of using back side type

PS5D-25V3A(JAE Connector P/N : DB-25P-T-N)
PS5D-25V4A (Hirose Connector P/N : SDBB-25P)

@

96(3.77")
87 (Mounting Screw : M4)
M2.6 Screw /_ﬂ
i P=r
o “m’:fi*{ 77777 )] @l 1 L AC{ T g
. N / o =
‘ _| [Juedaoopoduadad 2
| (demenddoaodend |
=
Mounting hole diagram
B 7 7 =
T CEHEEERHEEEE | ~ #05
S N A D I 3
H 14 15 16 17 18 1920 21 22 23 24 25 __H : :
i h EEEEEsEaEmmz] i 7 o 3
N N N N N N N I | @
©
— =]

Connector (Inside row) Pin Connector (Outside row) Pin
Connector 1 5 3 4 5 6 7 8 9 1011 1213 14 15 16 17 18 19 20 21 22 23 24 25
Terminals 123456780910 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
Outside terminal number Inside terminal number

*Front and back row connector pin assignment are reversed in case of using back side type




Screw Clamp 5.08mm Pitch

I D-Sub Connector Type

PS5D-37V3A (JAE Connector P/N : DC-37P-T-N) "si“.
PS5D-37V4A (Hirose Connector P/N : SDCB-37P)

@

121 (4.76")
112

M2.6 Screw $4.3

. ©_ = Tl F=

[ o aaaad] | | &
[l ]

(Mounting Screw : M4)

15

35

45(1.77")

i

[

Mounting hole diagram

H7 2345678 091111213141516171819 _H
S s e i e s e e e e e B $95
() 1 [ ) o e e o
N I A | N I A |
F_ 2021 22 23 24 25 26 27 26 b9 30 31 32 33 34 35,36 37
|
1

12.5

— T T o s
()= =153 \II 1) 1 o o ) ) o
D N N N A N D D

):
!
|
1

455 (1.79")

15

Connector (Inside row) Pin Connector (Outside row) Pin

Connector
1 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37

IR

1 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37

— o

Terminals

Outside terminal number Inside terminal number

*Front and back row connector pin assignment are reversed in case of using back side type

M Honda MR Connector Type

PS5D-20V8/B8 (Male connector P/N : MR-20RMDZ2)
PS5D-20V8-F/B8-F (Female connector P/N : MR-20RFD2)

<s P® (Back facing connector cutting diagram)

74(2.91")
65 |
54(2.12")

Pin No.1 (V8) (Mounting Screw : M4)
Pin No.1 (V8-F)

) %%ﬁ%;C( ,,,,,

| [ ofeedueaa] |
| cocecpdoos | |
7

15

13(0.51")

355
35
H
L
[
9.5
45(1.77")

(Back facing connector cutting diagram)

= Mounting hole diagram
J.:m‘n‘12‘13‘1A‘15‘15‘17‘18‘197
(1 (e | | #95
N A O A
Ho rt2s el s sH

— === T 11—
] o m 1

e P L

455 (1.79")
125

15

(V8 Pin B&-F Pin) Connector (Outsiderow) Pin  Middlerow  Connector (Inside row) Pin
(V8-FPin BB Pin) Gonnector (Inside row) Pin _ Middlerow _ Connector (Outside row) Pin
Connector 123456 7 8 9 1011121314151617 181920

N

Termhets 012345678 910111213141516171819

Outside terminal number Inside terminal number




PSS Dseries Screw Clamp 5.08mm Pitch

M Honda MR Connector Type

PS5D-34Vv8/B8 (Male Connector P/N : MR-34RMD?2)
PS5D-34V8-F/B8-F (Female Connector P/N : MR-34RFD2)

@

121 (4.76")
112
. (Back facing conng%tor cutting diagram)
E
g Pin No.1(V8) ( Screw : M4)
&
S Pin No.1 (V8-F
E’ in No.1 (V8-F) 43
3 ‘ = I /A
° e
S » AT J @
8 - s b
2 v &) U % @M—H—F £ -
8 ) 7 o ] b3
g | a® o | [dddddadddddddadadacd| | 2 5
S el 0 - L ~
i Qegadasesodadadedd
S
& S| | il
Mounting hole diagram
H 17 18 19 20 21 22 23 24 24 26 27 28 29 30 31 32 33 H
| Lf (O 19,20,21,22, 20, 24, 20,20 27 28 29,90, 01, 92,98, | $9.5
(I ) ) o o e e e o o e o
S N A | I N A O | ;‘
H 0 123456 7 8]9510111213141516 H ~ :
S e e e o i e e i e s o s I = &
I e e e o o e ) o e 3
N N N N N N N I %3
w0 l ¥ ©
E 5

#? i $4.3

(V8 Pin B8-F Pin) Connector (Outside row) Pin Middle row Connector (Inside row) Pin
(V8-FPin BBPiN) Gonnector (Inside row) Pin Middle row Connector (Outside row) Pin

Connector 1 9 10111213 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34

HiﬁHHMIHH[HIHHHHHHH

Terminals 0 123 4567 8 910111213 14151617 18 1920 21 22 23 24 2526 27 28 29 30 31 32 33

Outside terminal number Inside terminal number

PS5D-50Vv8/B8 (Male Connector P/N : MR-50RMD2)
PS5D-50V8-F/B8-F (Female Connector P/N : MR-50RFD2)

@

147 (5.79")
138
(Back facing connector cutting diagram)
E "
g Pin No.1 (V&) (Mounting Screw : M4)
& "
£ Pin No.1 (V8-F) 443
2
E ‘ = o
S o R A i 7
E° {3 L] P ( ~
s o | ] T T ~
g &% |||ddaag oo | I
v =
§ | © = = 2
5 [egegenangoratgogadangoidaol
3 - L
3 = n=
€ [
— Mounting hole diagram
125 26 27 28 29 30 31 32 33 34 35 36 87 38 39 40 41 42 43 44454547484@.%
ﬁﬁw S W e 0 S i i i i S $95
O g g g g T T T T -
SN N A S A A A A A 1 2
HO 123456 78 91011141314151617 18 19 20 21 22 23 24| = 0
S e i e i i - o o
{1 ) )0 3 ) ) )0 5y oy oy I
S N N A A A A A <
2 £
: i 443
(V8 Pin B8-F Pin) Connector (Outside row) Pin Middle row Connector (Inside row) Pin
(V8-FPin B8 Pin) Connector (Inside row) Pin Middle row Connector (Outside row) Pin

10 11 12113 14 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50

A

Terminals 10111213 14 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48 49

Outside terminal number Inside terminal number




Connector list

BIMIL-Standard Connector List

PIN. | Manufacturer | Conoctor| Commecor 20p 30p 34p 40p 50P
! Obsolete
Module V/B XG4A-2031 XG4A—-3031 XG4A—-3431 XG4A-4031 XG4A-5031
) Omron Side H XG4A-2034 XG4A-3034 XG4A-3434 XG4A-4034 XG4A-5034
Cable Flat XG4M-2030 XG4M-3030 XG4M-3430 XG4M-4030 XG4M-5030
Side Round | XG5M—203% XG5M-303% XG5M—343% XG5M-403% XG5M-503%
Module V/B PS—20PE-D4T1-LP1 | PS-30PE-DAT1-LP1| PS-34PE-DAT1-LP1 | PS—40PE-DAT1-LR PS-50PE-DA4T1-LP1
3 JAE Side H PS—20PE-DALT1-LP1| PS-30PE-DALT1-LP1| PS-34PE-DALT1-LP1| PS-40PE-DALTI-LP1| PS-50PE-DALT1-LP1
Cable Flat PS—20SEN-D4P1-1C | PS-30SEN-D4P1-1C| PS—34SEN-D4P1-1C| PS-40SEN-D4P14C | PS-50SEN-D4P1-1C
Side Round | PS-D4C20 PS-D4C30 PS-DAC34 PS-D4C40 PS-D4C50
Module | V/B HIF3BA-20PA-2.54DSA | HIF3BA-30PA-2.54DSA | HIF3BA-34PA-2.54DSA | HIF3BA-40PA-2.54DSA | HIF3BA-50PA-2.54DSA
4 Coﬂi;c;i?ors Side H HIF3BA-20PA-2.54DS | HIF3BA-30PA-2.54DS | HIF3BA-34PA-2.54DS | HIF3BA-4(PA-2.54DS | HIF3BA-50PA-2.54DS
Cable Flat HIF3BA-20D-2.54R HIF3BA-30D-2.54R HIF3BA-34D-2.54R HIF3BA-40D-2.5R HIF3BA-50D-2.54R
Side Round | HIF3BA-20D-2.54C HIF3BA-30D-2.54C HIF3BA-34D-2.54C HIF3BA-40D-2.5€ HIF3BA-50D-2.54C
5 Obsolete
Fujitsu Module V/B — — — FCN-364P040-AU —
Side H — — — FCN-365P040-AU —
6 Cable Flat Crimp — — — FCN-367J040-k/% —
Side  RRound Crimp — — — FCN-363J040-k% —
Soldering — — — FCN-361J040-k% —
7 Obsolete
HTK
Honda Tsushin
Kogyo Module Side  V/B MR—-20RMD2 = MR-34RMD2 = MR-50RMD2
8 Cable [RoundCrimp MRP—20F01 — MRP-34F01 — MRP-50F01
Side | Soldering| MR—20F = MR-34F = MR-50F
9
Module | V/B FAP-2001-1204-0BY FAP-3001-1204—-0BS FAP-3401-1204-0BY FAP-4001-120-0BS | FAP-5001-1204-0BS
10 Yamaichi Side H FAP-2001-1202-0BY FAP-3001-1202-0BS FAP-3401-1202-0BY FAP-4001-120-0BS | FAP-5001-1202-0BS
Electronics Cable Side Flat FAS-2001-2101-OBF FAS-3001-2101-OBF FAS-3401-2101-OBF FAS-4001-201-0BF | FAS-5001-2101-0BF
Round | UFS-20B-04 UFS-30B-04 UFS-34B-04 UFS-40B-04 UFS-50B-04
Module | V/B 6201-020-256 6201-030-256 | 6201-034-256 | 6201-040-256 | 6201-050-256
. KEL Side H 6201-020-258 6201-030-258 | 6201-034-258 | 6201-040-258 | 6201-050-258
Cable Flat 6200—020-601 6200—030-601 6200—-034-601 6200—040-601 6200—050-601
Side Round — — — — —
Module | V/B FRC5-C20S53T-0L FRC5-C30S53T-OL | FRC5-C34S53T-OL | FRC5-C40S53T-OL | FRC 5-C50S53T-OL
12 Ii?cﬁi Side H FRC5-C20L53T-0L FRC5-C30L53T-OL | FRC5-C34L53T-OL | FRC5-C40L53T-OL | FRC 5-C50L53T-OL
Denshi Kogyo | Cable Flat FRC5-A020-2T0OS FRC5-A030-2T0OS FRC5-A034-2T0S FRC5-A040-2T0OS FRC5-A050-2T0S
Side Round — — — — —
Module V/B RX-H201TD-1190 — RX-H341TD-1190 | RX-H401TD-1190 | RX-H501TD-1190
13 JST Side H RX-H201SD-1190 — RX-H3415D-1190 | RX-H401SD-1190 | RX-H501SD-1190
Cable Flat RX-S2015-1390 — RX-S3415-1390 RX-S4015-1390 RX-S5015-1390
Side Round — — — — —
Module V/B 3428-6002LCSC | 3440—6002LCSC | 3431-6002LCSC | 3432—6002LCSC | 3433-60Q@LCSC
14 aM Side H 3428-5002LCSC | 3440-5002LCSC | 3431-5002LCSC | 3432-5002LCSC | 3433-5002ICSC
Cable Flat 7920—F500SC 7930-F500SC 7934-F500SC 7940—F500SC 7950—F500SC
Side Round — — — — —



user5
長方形

user5
長方形

user5
長方形

Automation
テキスト ボックス
Obsolete

user5
長方形

Automation
テキスト ボックス
Obsolete

Automation
テキスト ボックス
Obsolete


Connector List

64P

XG4A-6431

XG4A—-6434

XG4M-6430

HIF3BA-64PA-2.54DSA

HIF3BA-64PA-2.54DS

HIF3BA-64D-2.54R

B D-Sub Connector (Mounting screw is M2.5)

HIF3BA-64D-2.54C

FCN-364P064-AU

FCN-367J064-k* /*

FCN-363J064-+*

FCN-361J064-+*

MFC—64RPM

MFC—64RLPM

MFC—64RFC

FAP-6401-1204-0BS

FAP-6401-1202-0BS|

FAS-6401-2101-0BF

FRC5-C64553T-0L

FRC5-C64L53T-0L

FRC5-A064-2T0S

3764-6002LCSC

3764-5002LCSC

7964—F500SC

P/N | Manufacturer Connector side Cfnnner':tor 25P 37P
Direction
Module Side V/B DB-25P-T-N DC-37P-T-N
3A JAE ) Crimp DBU-25S-FO DCU-37S-FO
Cable Side -
Soldering DB-25S-N DC-37S-N
Hiese Module Side VB SDBB-25P SDCB-37P
4A Connectors . Crimp CDB-258 ** CDC-37S **
Cable Side ;
Soldering HDBB-25S * HDCB-378S **
BMR Male Connector Honda Tsushin Kogyo
P/N Connector side 20P 34P 50P
Module Side MR-20RFD2 MR-34RFD2 MR-50RFD2
8-F Cable Side Round Crimp MRP-20M01 MRP-34M01 MRP-50M01
Soldering MR-20M MR-34M MR-50M
M Notification

@ Please contact us for inquiries regarding unlisted parts.

@ Part numbers for the round cables are for example only. Excluding P/N 6,8.

@ Some connectors may require additional housing. Please contact the connector
manufacturer for more details.

@ ""indicates a difference in specification.

@ Part numbers for the round shaped socket parts number is for example only.
Please contact connector manufacturer for more details.

® Please refer to UL and CSA compliance on pages 156 -159.

@ V- Vertical

3 B- Back

: Connector faces top
@ H - Horizontal: Connector faces front

: Connector faces back



user5
長方形

user5
長方形

user5
長方形


UL

156

UL Compliant List

LISTED

UL Compliant Products

P/N Voltage Rating Maximum Current Recommended wire Note
Solid: 14-26AWG.
PM5D 125V 1A
Stranded: 16-22AWG.
Solid: 14-26AWG.
PM5DW 125V 1A
Stranded: 16-22AWG.
Input:  TB side: DC24V Input: 1A (Resistance Inductive load) Solid: 14-26AWG
CN side: AC125V / DC30V ) ) : .
PM5WR Output: 3A (Resistance load)
Output: TB side: AC250V / DC30V 24 (Inductive load Stranded: 16-22AWG.
CNside: DC24V (Inductive load)

UL Compliant Connectors

P/N | Manufacturer M.ountl.ng Part Number Note
Direction
V/B XG4A- 1
2 Omron GaA-( )3 () : Connector pin number
H XG4A-( )34
V/B - - ]
12 Daiichi Denshi ! FRCS-C()SS3T-OL () : Connector pin number
H FRC5-C( )L53T-OL
13 JST Vi RX-H( ) ITD-1190 () : Connector pin number
H RX-H( ) ISD-1190
14 3M V/B 3¢ )- 6002LCSC ( ): Pin number code
H 3( )- 6002LCSC 428: 20P, 440: 30P, 431: 34P, 432: 40P, 433: 50P




GUS

LISTED

UL Compliant List

UL, C-UL Compliant Products

PIN Voltage Rating Maximum Current Recommended wire Note
PS5D 125V 1A 14-20AWG.
PS7DS / PX7DS 125V 1A 16-20AWG.
PS7DW / PX7DW 125V 1A 16-20AWG.
PS7L /PX7L DC24v N 16-20AWG.
PSDS/PXDS 125V 1A 14-18AWG.
PSD / PXD 125V 1A 14-18AWG.
PSL / PXL DC24V O\Et;;tijtt ;[r;)f:nﬁnputlmpedance: 3.3kQ) 14-18AWG.
PSP / PXP DC24v 10mA MAX. (Open collector) 14-18AWG.
PSND 125V 1A 10-16AWG.
Input: T8 s?de: DC24v Input: 1A (Resistance Inductive load)
PSWR / PXWR CN S'F’e: AC125V/DC30V Output: 3A (Resistance load) 14-18AWG.
Output: TB side: AC250V / DC30V ,
CNside: DC24V 2A (Inductive load)
Input : TB side: DC24V
PSWP / PXWP CNside: DC30V MAX. 10mA MAX. (Open collector) 14-18AWG.
Output: TB side: DC30V MAX.
CN side: DC30V MAX.
Input : TB side: DC24V
CNside: DC30V MAX. ]
PSWPX/PXVWPX | oupu o oosviux | oo oA T | 14-18AIG.
CN side: DC24V MAX.
PSTD 125V 1A 14-18AWG.
UL, C-UL Compliant Connectors
Mounting
P/N | Manufacturer | picaction Part Number Note
V/B XG4A- 31
2 Omron ) () : Connector pin number
H XG4A-( )34
T . V/B FRC5-C ( )S53T-0OL
12 Daiichi Denshi : Connector pin number
H FRC5-C( )L53T-OL () P
V/B - -
13 JST RX-H () ITD-1190 () : Connector pin number
H RX-H( ) ISD-1190
14 M V/B 3( )- 6002LCSC (' ): Pin number code
H 3( ) - 6002LCSC 428: 20P, 440: 30P, 431: 34P, 432: 40P, 433: 50P

UL-C-UL

157



CSA

158

@ CSA Compliant List

CSA Compliant Products

P/N Voltage Rating Maximum Current Recommended wire Note
PM5D 125V 1A Solid: 14-26AWG.
5 Stranded: 16-22AWG.
Solid:14-26AWG.
PM5DW 125V 1A Stranded: 16-22AWG.
Input: T8 s?de: DC24v Input: 1A (Resistance Inductive load) Solid: 14-26AWG
PM5WR CN side: AC125V / DC30V Output: 3A (Resistance load) olid: 14- .
Output: TB side: AC250V / DC30V . Stranded: 16-22AWG
CNside: DC24V 2A (Inductive load) ranaed: 10- .
PS5D 125V 1A 14-20AWG.
PS7DW / PX7DW 125V 1A 16-20AWG.
PS7L / PX7L DC24V Input: 7mA (Input Impedance: 3.3k) 16-20AWG.
Output: 500mA
PSD / PXD *125V(60V) 1A 14-18AWG.
PSL / PXL DC24V Input: 7mA (Input Impedance: 3.3kQ) 14-18AWG. Except IZ
Output: 500mA
PSP / PXP DC24v 10mA MAX. (Open collector) 14-18AWG.
PSND 125V 1A 10-16AWG.
Input: B s!de: DC24v Input: 1A (Resistance Inductive load)
PSWR / PXWR CNsside: AC125V / DC30V Output: 3A (Resistance load) 14-18AWG.
Output: TB side: AC250V / DC30V .
CNside: DC24V 2A (Inductive load)
Input : TB side: DC24V
PSWP / PXWP CNsside: DC30V MAX. 10mA MAX. (Open collector) 14-18AWG.
Output: TB side: DC30V MAX.
CN side: DC30V MAX.
Input : TB side: DC24V
CN side: DC30V MAX. Input:  10mA MAX. (Open collector)
14-18AWG.
PSWPX / PXWPX Output: TB side: DC30V MAX. Output: 100mA MAX. (Open collector)
CN side: DC24V MAX.
PSTD 125V 1A 14-18AWG.

*Voltage rating of P/N "8" and "8-F" are 60V.




@B CSA Compliant List

CSA Compliant Connectors

P/N Mounting
Direction Part Number Note
V/B FCN - 604 4-G/M
5 / CN - 604Q064-G/ Only 64p is capable
Fulltsu H FCN - 605Q064-G/M
V/B FCN - 364P040-AU
6 Only 40p is capable
H FCN - 365P040-AU
8 HTK. ViB MR- () RMD2 () : Connector pin number
8-F | Honda Tsushin Kogyo \V/B MR- ( )RFD2
9 Obsolete
Yamaichi V/B FAB-( )01-1204-OBS .
10 :
Electronics H FAB- () 01-1202-OBS () Gonnector pin number
V/B 3 ) - 6002LCSC ( ) : Pin number code
14 3M 662: 10P, 408: 16P, 428: 20P, 440: 30P, 431: 34P, 432: 40P
H 3( ) - 5002LCSC 433: 50P
DA-15P-T-N
3A JAE Y DB-25P-T-N
DC-37P-T-N
. SDAB-15P
Hirose
4A Connectors v SDBB-25P
SDCB-37P

TOhO Technology www.tohotechnology.com

% The products and specifications described in this manual or the content and presentation of the
manual may be changed without notice to improve the product and/or the manual.

Toho Technology Inc.

4806 North Ravenswood Avenue, Suite113, Chicago, lllinois 60640 Tel: 773.583.7183

CSA

159


Automation
タイプライタ
Obsolete

Automation
タイプライタ
FAB- (    ) 01-1204-OBS

Automation
タイプライタ
FAB- (    ) 01-1202-OBS

Automation
タイプライタ
3 (        )  - 6002LCSC

Automation
タイプライタ
3 (        ) - 5002LCSC

Automation
タイプライタ
(   ) : Connector pin number

Automation
タイプライタ
(        ) : Pin number code          
662: 10P, 408: 16P, 428: 20P, 440: 30P, 431: 34P, 432: 40P
433: 50P





